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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.

You must show all your working.

Diagrams are NOT accurately drawn, unless otherwise indicated.
Calculators may be used.

If your calculator does not have a 7 button, take the value of 7z to be 3.142
unless the question instructs otherwise.

g

Information

® The total mark for this paper is 80
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 The scatter diagram shows information about 12 girls.

It shows the age of each girl and the best time she takes to run 100 metres.
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(a) Write down the type of correlation.
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Kristina is 11 years old.
Her best time to run 100 metres is 12 seconds.

<C

u The point representing this information would be an outlier on the scatter diagram.

<

% (b) Explain why.

- . .

S| Teo s avey From line of best i€
e

=
E (1)

o

= Debbie is 15 years old.

8 Debbie says,

“““ “The scatter diagram shows I should take less than 12 seconds to run 100 metres.”

L (c) Comment on what Debbie says.

Ca.m-oé A(SUM e rela‘('fonsl»fp be{‘w«m ASQ M/(

Aeke.  sef F(OV(:AC A, )

(Total for Question 1 is 3 marks)

| Eina Euken by valid when Cv(éf«pola:é‘«'u. AeJo—w( He

2 Expand and simplify 5(p+3)-2(1-2p)
Sp+ 1S =2 +4p
1 P+ 13

1\

1

(Total for Question 2 is 2 marks)
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3 Here is a trapezium drawn on a centimetre grid.

Afccg U
_ S (#2)xe | B
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N\
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6 %_ xex6
C

On the grid, draw a triangle equal in area to this trapezium.

(Total for Question 3 is 2 marks)
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4 When a biased 6-sided dice is thrown once, the probability that it will land on 4 is 0.65
The biased dice is thrown twice.

Amir draws this probability tree diagram.
The diagram is not correct.

first throw second throw

land on 4

land on 4

oNorwATEWTHSARER

0.65

not land on 4

land on 4

not land on 4

6-35

0.65
033 not land on 4

Write down two things that are wrong with the probability tree diagram.

Plnok lead 64 4) ghoold be 0,35 on sk Ehrow

........... P"’LML"""“""EUC[‘%je"{O“éDFLMM—LeS
f@of S&LonnA é’L\/ow

(Total for Question 4 is 2 marks)
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5 ABC is aright-angled triangle. o
y o
o
Ilcm =
a
5
Lk
m o2 3
C 7cm B 8
(a) Work out the size of angle ABC. E :
Give your answer correct to 1 decimal place. RREREK
g o
oS A = — o
’ ( .......
~' /2
o( — CoS -'—,'
o
= 50.47%8
o
¥ = S6.% Eo Lohp
.................. 50.5 .
(2)
The length of the side 4B is reduced by 1 cm.
The length of the side BC is still 7cm.
Angle ACB is still 90°
(b) Will the value of cos ABC increase or decrease?
You must give a reason for your answer.
<<<<<<<<<<<<<<<<<<<<<<<<<<<<<< cos ot wedld be T
VA 7 Cos ABC  would tncrcase
T A e...GLe S ALS .  Wov (¢ ANeLEaAdL
10 l 1)

(Total for Question 5 is 3 marks)
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6 There are some counters in a bag.
The counters are red or white or blue or yellow.

Bob is going to take at random a counter from the bag.

The table shows each of the probabilities that the counter will be blue or will be yellow.
Colour red white blue yellow
Probability | 0 -2 | O- | 0.45 0.25

There are 18 blue counters in the bag.

DONOTWRMETHISAREA

The probability that the counter Bob takes will be red is twice the probability that the
counter will be white.

S (a) Work out the number of red counters in the bag.

0,45 + 0.25 = 0,7 45’2 Llve.
| —o.7 = 0.3

Red & Whike 4 Lo %
c 2 « Cio'/, = 3£
= 0.2 0 lo 4 =

Lol 20% = oxa = ¥

“4)
A marble is going to be taken at random from a box of marbles.
The probability that the marble will be silver is 0.5
There must be an even number of marbles in the box.
(b) Explain why.
AAAAAAAAAAAAAAAAA 1€ P(Slves) 23 and n silver melles
........................ Ehen bkl wmaslles = 2 Wheh (6 cven
bor any postbae lakeser 1 (1)
. (Total for Question 6 is 5 marks) y
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7 Solve =2x-7

§ - = ZCZx—"&)
4 = -4

(/‘\
)

Y,
~
1

S +14 = 4o + % z
T

14 = S« g
19 = -

AP

3

R
)

(Total for Question 7 is 3 marks)
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8 ABCDE is a pentagon.

=
T D ¢

Angle BCD = 2 x angle ABC A i S el o /é_ '06-’\ ‘{""-59"‘

Work out the size of angle BCD. .
You must show all your working. Svm = 3x 1€6 = S40

46 4+ S 4125 + % +2x = S«o°
3360 + Jx = Sa&o
3¢ 40 — 330
3 x 210

(0
x‘:_z,_

N

)

L Bcd) = 2= = l4-0

(Total for Question 8 is 5 marks)
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9 T= ?

w=56x10"
d=14x10"

(a) Work out the value of 7.
Give your answer in standard form correct to 3 significant figures.

T = [§.L(x107° - ASIT.54
(I.4xlo"")3 X
= 4.2 x 1o

w 1s increased by 10%
d is increased by 5%

Lottie says,
“The value of T will increase because both w and d are increased.”

(b) Lottie is wrong. .
Explain why. Nvu ml—rafbr hMu | é*("tl 1-3 N

3
benou—u:u.,‘\‘ol Mulll.’f‘ol\'cd 53 [05- = (.SS--,

Fruc'@‘t'm wrll €lhecefre be Swmaller

Siouc coot o Lruedon Wil herebore

(OQ Sm.a.“&/‘

(Total for Question 9 is 4 marks)
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10 Here are three lamps.

lamp A lamp B lamp C

v 9§

Lamp A flashes every 20 seconds.
Lamp B flashes every 45 seconds.
Lamp C flashes every 120 seconds.

boNoTWRTENTHSARER

The three lamps start flashing at the same time.

B How many times in one hour will the three lamps flash at the same time?

‘7_'2.0 e l4§ 'Li]'z_o
3105

1S G z3e
f ( 318,
SLJS

[

LeM = 2x2xS x3IxIxz = SCO secerds
= é ""-z—\v*'ef

e = (C = o

Flaslh bogebher 10 Eines Ju | howr

I’ (’-F we c_oéwve‘ [:‘ke 'pc'/‘j‘(‘ on&

(Total for Question 10 is 3 marks)
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11 In 2003, Jerry bought a house.
In 2007, Jerry sold the house to Mia.

o

He made a profit of 20% O
=
In 2012, Mia sold the house for £162 000 : 9l ‘
She made a loss of 10% =§U
Work out how much Jerry paid for the house in 2003 g ‘
Leb price 1n 20063 b2 o =
3

>

% x 1.2 x 0.9 = lCzo00 >

|.08x = |£2000 S

(-6F

xX = | S 0000

(Total for Question 11 is 3 marks)

12
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| 12 The graph shows the volume of liquid (L litres) in a container at time ¢ seconds.
< 4
= 16
<
T 14
Bl
:Ef: 12

w

o

= 10

'6 Volume

=z (L litres) 8
RRRtH 6
“““““ 4
= 2

0 >

0 1 2 3 4 5 6 7 8

Time (¢ seconds)

(a) Find the gradient of the graph.

16 —4¢ 12 _ 3
#-0 ¢ z |5
(2)
(b) Explain what this gradient represents.
................. The rebe af which tle volume of ligurd
L8 Intreasingt .S lifees per second
1)
The graph intersects the volume axis at L = 4
(c) Explain what this intercept represents.
ot . . -
................... The initial volome at fime €0,
1)

(Total for Question 12 is 4 marks)
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13 Here are two similar solid shapes.

A B

surface area of shape A :surface area of shape B =3:4

The volume of shape B is 10cm?

Work out the volume of shape A.
Give your answer correct to 3 significant figures.

Ac ¢e .4
Leasthn R
= ﬁ;z
Volome 3 :2°
= _j;”:?

3
Volome of A= 10543 _ / = 35k
g

(Total for Question 13 is 3 marks)
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14 There are 16 hockey teams in a league.
Each team played two matches against each of the other teams.

Work out the total number of matches played.

’éX)ng
Z

= 240

(Total for Question 14 is 2 marks)

J
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15 The graph shows the speed of a car, in metres per second, during the first 20 seconds of

a journey. .
g8
A o
40 =z
O
=
a
5
30 / m:
S
=
Speed :
(m/s) 20 a2
P
10 R
0 >
0 5 10 15 20

Time (s)

(a) Work out an estimate for the distance the car travelled in the first 20 seconds.
Use 4 strips of equal width.

‘D“Stéhcé ~ —;—[‘jo + 2(3‘4’34_4—31)1‘-34]

z %[Oq‘- 2(22 +2?+22)+3f]

497.5 m

"

1

A44%F

16
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(b) Is your answer to part (a) an underestimate or an overestimate of the actual distance
the car travelled in the first 20 seconds?
Give a reason for your answer.

Underestimte since Crapezic are all voder corve

(Total for Question 15 is 4 marks)

_DONOTWRITEINTHISAREA

J

17

AR RO 0 0 0 Turn over »
P 4 8 8 6 4 A0 1 7 2 4



( B YRR

16 The nth term of a sequence is given by an? + bn where a and b are integers.

The 2nd term of the sequence is —2

The 4th term of the sequence is 12 | 8 |
>

(a) Find the 6th term of the sequence. ‘ 9l ‘
[s& 2.4 A 4tn Sen L& -

5

m

a+h 4 a+2b lba +4b 36a+ (b E

i ol

Aa +2b = -2 (© 5.t :’:"‘ zM ® E

|G + 45 = (2 @ € "'2’5;_2__3, e
()re o +4° 5 "% O 26 = -0 .

a =
= 42
,,,,,,,,,,,,,,,,,,,,, 4z .
4)
Here are the first five terms of a different quadratic sequence.
0 2 6 12 20
(b) Find an expression, in terms of #, for the nth term of this sequence.
1oF A F 2_ 4 é &
2a X ALF 2 2 2z
no 4 a4 6 5
-t ~2 =3 -4 -5
-n -\ -z -3 —-4 -f
(A
444444 n.owv. ..
(2)
(Total for Question 16 is 6 marks)
.
18
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Work out the length of AD.
Give your answer correct to 3 significant figures.

X - 12.5
S;"34° S’.ﬂ IDQ‘ Se"ﬂ( EU[Q

x = 2.5  sia34° = 7.3492¢7
Sin164°

1)

x1+IL¥Z-2xx:<M4-m5&°

= 13.147

‘3'7.
0.)2- = ]72.%5 39
9
wz 131 ew o 3 s £

(Total for Question 17 is S marks)
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18 (a) Show that the equation x* + x =7 has a solution between 1 and 2
13 4 ) = 2 <77
23 y2 = 1o > 7]

3 . . .
K A 15 4« LOr\étﬂuduf 'ﬁ""“-'é‘dﬂ So

3
x +x = 7 fﬁr Som € V‘_(u'e IDQ‘GWCCV\ ’ “"‘IZ

(2)
(b) Show that the equation x*+x =7 can be rearranged to give x= /7 — x
3
x = 7-=
X = 3/ = — ot
1)

(c) Starting with x, = 2,
use the iteration formula x = 3/7 — x, three times to find an estimate for a

solution of x*+x=7
x, = 37 -2 = 1.7]
X, ::‘/7—1.71 l.742

X3 =3{7-1.7942 = l.739

= .74 k3 st

ol

(Total for Question 18 is 6 marks)

20
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19 Here are two right-angled triangles.

<
i
<
i
z
S 6x +5
=
(®)
=
= ‘ 0 !
4y — 1 12x + 31
Given that
tan e = tan f X éx + S
find the value of x. 4x-1 - 12 5 + 3/

You must show all your working.

x(122+310) = (6 +;)[4x-z)

12x +3lz =24x +20x ~bx -5

O = 24x +20x ~6x =5 —[2x" - 3lx
O = 122"=[1x -5
'?x[f O = 122" +3x —20x —§
-60
~20 O = Zx(4x+9—5(4z+9
o = (3x-s)(4x+)

Eibher 32 -5 =0 4ar L+ =

3 =77

X C&nno"‘ é‘— "‘55‘-“"{

AAAAA x=573

(Total for Question 19 is 5 marks)

\

J

21

T



20 50 people were asked if they speak French or German or Spanish.

Of these people,
31 speak French
2 speak French, German and Spanish
4 speak French and Spanish but not German
7 speak German and Spanish
8 do not speak any of the languages
all 10 people who speak German speak at least one other language

Two of the 50 people are chosen at random.

7
Work out the probability that they both only speak Spanish. ; ﬁ
>

5]

P(Ko(’k;(afr - —é x 5 = 30
an{j frhm’JL 5o 49 2450
= 3
245

(Total for Question 20 is 5 marks)
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0 D C

ABCD is a parallelogram.
ABP and QDC are straight lines.
Angle ADP = angle CBQ = 90°

(a) Prove that triangle ADP is congruent to triangle CBQ.

L ADP = L (C8Q = 6)0" o\);v<h
AdD <= B¢ orrosr'f'e sideg ot a

far«.“é(ajl‘kh are e‘f,‘M (

/. DAP = < C8BP C.af‘r'q‘”hd( t‘wg Anﬁ‘-es
Z. CBP = £ &ch albernite Gnqleg

Z.DAP = L Qck

ADNs  ADP and L8R are congruent AA.S

3)
(b) Explain why 4Q is parallel to PC.

AP a~d QC are Fq,ﬂ..”&’ AAA eiual/
(C&iuu( 5;455 '}‘4 Cé"lj"v(-aé' AS)

&&64'4 e

AQcf )¢ a F&f@l{C(OSIAw\

.” AQ 'S Fara“e.( to FC

(2)

(Total for Question 21 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS
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